

NAME: KUDORE MOTOLADUNWA. O.

MATRIC NO: 17/MHSD1/173

DEPARTMENT: PHYSIOLOGY

COURSE CODE: MAT 104

### Assignment

10

$$\int \frac{11-3x}{x^2+2x-3}$$

$$x^2+2x-3$$

$$x^2+3x-x-3 = x(x+3)-1(x+3)$$

$$= (x-1)(x+3) \quad [x-1=0, x=1 \quad x+3=0, x=-3]$$

$$\frac{11-3x}{x^2+2x-3} = \frac{11-3x}{(x-1)(x+3)} = \frac{A}{x-1} + \frac{B}{x+3} = \frac{A(x+3)+B(x-1)}{(x-1)(x+3)}$$

$$11-3x = A(x+3) + B(x-1)$$

$f(x)$  where  $x = -3$

$$11-3(-3) = A(-3+3) + B(-3-1)$$

$$11+9 = A(0) + B(-4)$$

$$20 = -4B$$

$$\therefore B = -5$$

$f(x)$  where  $x = 1$

$$11-3(1) = A(1+3) + B(1-1)$$

$$11-3 = A(4) + B(0)$$

$$8 = 4A$$

$$\therefore A = 2$$

$$\int \frac{11-3x}{x^2+2x-3} = \frac{2}{x-1} + \frac{-5}{x+3}$$

$$\int \frac{11-3x}{x^2+2x-3} = \int \frac{2}{x-1} dx + \int \frac{-5}{x+3} dx$$

$$\int \frac{2}{x-1} dx$$

Let  $u = x-1$

$$\frac{du}{dx} = 1, \quad dx = du$$

$dx$

$$\int \frac{2}{x-1} dx = \int \frac{2}{u} du = 2 \int \frac{1}{u} du = 2 \ln(x-1)$$

$$\int \frac{-5 dx}{x+3}$$

$$\text{Let } u = x+3$$

$$\frac{du}{dx} = 1, \quad dx = du$$

$$\int \frac{-5 dx}{x+3} = \int \frac{-5 du}{u} = -5 \int \frac{1}{u} du$$
$$= -5 \ln(x+3)$$

$$\int \frac{11-3x}{x^2+2x-3} = 2 \ln(x-1) + (-5) \ln(x+3) + C$$
$$= 2 \ln(x-1) - 5 \ln(x+3) + C, \text{ where } C \text{ is the constant of the integration.}$$

$$2. \int \frac{4x-16}{x^2-2x-3}$$

$$x^2-2x-3 = x(x-3) + 1(x-3)$$

$$= (x+1)(x-3) \quad [x+1=0, x=-1 \quad x-3=0, x=3]$$

$$\frac{4x-16}{x^2-2x-3} = \frac{4x-16}{(x+1)(x-3)} = \frac{A}{x+1} + \frac{B}{x-3} = \frac{A(x-3) + B(x+1)}{(x+1)(x-3)}$$

$$4x-16 = A(x-3) + B(x+1)$$

$f(x)$  where  $x=3$

$$4(3)-16 = A(3-3) + B(3+1)$$

$$12-16 = A(0) + B(4)$$

$$-4 = 4B$$

$$\therefore B = -1$$

$f(x)$  where  $x=-1$

$$4(-1)-16 = A(-1-3) + B(-1+1)$$

$$-4-16 = A(-4) + B(0)$$

$$-20 = -4A$$

$$\therefore A = 5$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{5}{x+1} + \frac{-1}{x-3}$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = \int \frac{5}{x+1} dx + \int \frac{-1}{x-3} dx$$

$$\int \frac{5}{x+1} dx$$

Let  $u = x+1$ ,  $du = 1$ ,  $dx = du$

$$\int \frac{5}{x+1} dx = \int \frac{5}{u} du = 5 \int \frac{1}{u} du$$

$$= 5 \ln(x+1)$$

$$\int \frac{-1}{x-3} dx$$

Let  $u = x-3$ ,  $du = 1$ ,  $dx = du$

$$\int \frac{-1}{x-3} dx = \int \frac{-1}{u} du = -1 \int \frac{1}{u} du$$

$$= -1 \ln(x-3)$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = 5 \ln(x+1) + (-1) \ln(x-3) + C$$

$$= 5 \ln(x+1) - 1 \ln(x-3) + C, \text{ where } C \text{ is the constant of the integration.}$$

30  $\int \frac{20x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$

$$\frac{20x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{20x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$20x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

$f(x)$  where  $x = -1$

$$20(-1)^2 - 9(-1) - 35 = A(-1-2)(-1+3) + B(-1+1)(-1+3) + C(-1+1)(-1-2)$$

$$-24 = A(-3)(2) + B(0)(2) + C(3)(0)$$

$$-24 = A(-6) + B(0) + C(0)$$

$$-24 = -6A$$

$$A = 4$$

$f(x)$  where  $x=2$

$$2(2)^2 - 9(2) - 35 = A(2-2)(2+3) + B(2+1)(2+3) + C(2+1)(2-2)$$

$$8 - 18 - 35 = A(0)(5) + B(3)(5) + C(3)(0)$$

$$-45 = A(0) + B(15) + C(0)$$

$$-45 = 15B, \therefore B = -3$$

$f(x)$  where  $x=-3$

$$2(-3)^2 - 9(-3) - 35 = A(-3-2)(-3+3) + B(-3+1)(-3+3) + C(-3+1)(-3-2)$$

$$10 = A(-5)(0) + B(-2)(0) + C(-2)(-5)$$

$$10 = A(0) + B(0) + C(10)$$

$$10 = 10C, \therefore C = 1$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \frac{4}{(x+1)} + \frac{-3}{(x-2)} + \frac{1}{(x+3)}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \int \frac{4}{x+1} + \int \frac{-3}{x-2} + \int \frac{1}{x+3}$$

$$\int \frac{4}{x+1} dx$$

let  $u = x+1$ ,  $\frac{du}{dx} = 1$ ,  $dx = du$

$$\int \frac{4}{x+1} dx = \int \frac{4}{u} du = 4 \int \frac{1}{u} du = 4 \ln(x+1)$$

$$\int \frac{-3}{x-2} dx$$

Let  $u = x-2$ ,  $\frac{du}{dx} = 1$ ,  $dx = du$

$$\int \frac{-3}{x-2} dx = \int \frac{-3}{u} du = -3 \int \frac{1}{u} du$$

$$= -3 \ln(x-2)$$

$$\int \frac{1}{x+3} dx$$

Let  $u = x+3$ ,  $\frac{du}{dx} = 1$ ,  $dx = du$

$$\int \frac{1}{x+3} dx = \int \frac{1}{u} du = \int \frac{1}{u} du$$

$$= 1 \ln(x+3) = \ln(x+3)$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln(x+1) + (-3) \ln(x-2) + \ln(x+3) + C$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3) + C, \text{ where } C \text{ is the constant of the integration.}$$